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26 PART A — 3 wd

What is a market c'conomy ?

RIiE mrfm% Fe

Fill in the blank. : )
Opporlumty cost is also calied thc B o8 Vst wwan e rapane cost,
“rER s @l e
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Define utility.
Goiaifrer ket e |

What is marginal revenue ?

Draw a very short-run supply curve for perishable commodmes.

ﬁw@mﬁaaﬁwﬁﬂwmm @ SE T

. lee an example of fixed cost.

21 e u‘]ﬁ@;ﬁl‘@‘l’m\‘?l"

2. State two central probleins of an ‘economy.

SRIER 4f5 @R SR TR |
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Why is an isoquant negatively sloped ?

b T-BeAlm @ AN (AT GEE oA T & w2

4.  State any two factors a‘ffectihg the supply of a c51n1nodity.

5. Distinguish between short-run and long-run.

T R TR A (ST |
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6. State fwo reasons behind the working of the law of diminishing marginal product.

2
=== elifEe Sevivm Rifr srdeRor @ /e R 775 @
7. Wrie down the concept of normal profit. - -2

T=RT SCed GRS @il

What is price elasticity of demand ? Mention any three 1mportant factors determining
price elasticity of demand. . 143
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9. Suppose, when the price of a’commodity is Rs. 10, the quantity supphed 1s 20
" units. As price increases to Rs. 15, the quantity supphed 1ncreases to 30 umls
Calculate the elasticity of supply. . +

@ T, G AN TN 10 TR 20 Ol menmerﬁmcfzo G T | AT A 15 i
AT @A 30 G mmmm mﬂmﬂﬁﬁwmﬁcﬁ B |

10. The total cost (TC) s‘chedule of a production unit is givcn below. Tind out the
avcragc cost (AC) and marginal cost (MC) schedules for the production unit.
2+2

4B Teslme aﬂwmiﬁﬁ@a WW(TC)W% STl AR | TeAm ZEHbHa
TG T (AC) aa\ﬁmm(MC)aﬁﬁﬁvﬁW| :

0 | TC
1 30
i ' o 55 ;
3 75
4 90
5 110
6 140
7

180
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11.. Show the relationship between average cost (AC) and marginal cost, (MC) with the
" help of a diagram. R . 4
G I (AC) =R 2fEF [T (MC)~F GI(6 F=2R[E orag A2 (s |

12. ~ Write down four characteristics of a perfectly competitive market. 4

A eferIFrorER a5 @RE e

-13. State and explain the law of demand with thé kelp of a diagfam. - 6
siftwl R e I @ Beaz s ¢t it FE|

“OR / @%q

Explain the concept of short-run equilibrium of a monopoly market assuming zero

cost.

@QWWWW@W&WWW@WW%WWWI ,

14. “In perfect competltion AR = MR but in monopoly AR >MR .” — Explain. G
| “ﬁwer—mﬁasw AR = MR, % @eesfat areia AR > MR 7 —fiﬁﬂﬁw:

OR /W‘\’Hi‘

. The demand and supply functions of a firm under perfectly competltlve market are
given below : '
D=25-5P
S=-5+10P
where, D => quantity demanded, S=> quantity supphed and P> price. Flnd the
equ111bnum price, quantity demanded and quantity supplied.

v@‘ﬁﬁﬂﬁﬂwwmwmmm Qo e WORIE @0 2
D=25-5P o

. S=-5+10P

@A D= SiRwE #fw, s:>mﬁ1maﬂﬁmm\1):> HI
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24T ECON-BENG , - 14]



PART B -~ <2 ooy . .

fa) In which type of money, the face value is higher than the intrinsic value ?

T
nY
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1
! @ TR s T+ [k w7 s @i
| (b) Define final goods. , - ‘ B
’ DOI% TR Kt e |
(c) What'is bank rate ? t e i ' _ 1
JCEA 2 F2 ‘
F (d) Whet type of budget should the government p‘repare.in ﬁmes of inflation ?
. . ' ,- 1
: E"&Ffﬁf?f A TR ok Em?t‘ ﬁ@— © S T ?
(e) State one example of non-tax revenue K % | | 1
S AT G0 TAIRE WIS |
(/ What is invisible trade ? ' - ks ' | -1
Sy [N Fe '
16. Distinguish between gross investment and net investment. - T2
I [ @) ww R il e
17. What is pei‘sonal disposable income ? P | 2

"

: m%ﬁemﬂjwwﬁa

I8. The marginal propensity to consume (MPC) of an economy is 0-9 and suppose, an
additional sum of Rs. 500 crores is invested in it. How much new income will be
generated in the economy 9 - S 2

b SRR el Toirelot 27erel QA (MPC) 0-9 @<k 4@l 3IF, <A 500 @sﬂ%%m
?ﬁmﬁwmiwﬁ%rar ﬁﬁmewwﬁwﬁm?
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20.
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22.
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23.

26.

27.

What is marginal propensity to save? - . ' : ' . 2

2N AT oSt e

Mention two main accounts of balance of payments. ' : 2

(FF-CTCTS SO 776 i R S et

What does the revenue account of a government budget contam ? 2
a6 I ATECea Ty AR ?ﬁ ACF? '
Distinguish between consumer goods and capital goods. 4

(O TRy G EAT TR S RO |

- The autonomous consumption of an individual is Rs. 500 and his personal disposable

income is Rs. 5000. If his marginal propensity to consume is 0-8, find out the level 14
of aggregate consumption. . , 4.-

: amayﬁwmm oAfTiel soomm\ma}f‘"ﬂ—mmw 500031??“ aﬂ‘—i%a

mﬁasmﬁaamosmmfaa COIEaR SN e 5t |

What is investment multiplier ? Explain it with the help of a diagram. 4

ﬁﬁm?f'masa?r? ol o R G e <

Distinguish between balance of trade and balance of payments. 4
AfafeTe el @R Ew-0 AT AL @R : 1
Distinguish between plan and non-plan’ expenditure. 4

ﬁﬁﬁ?ﬁ—&ﬂﬁ\@lﬂﬁ'ﬂ?ﬁ‘w*‘ﬁ?fﬂﬂ T |

Explain the circular flow of income in a 31mp11ﬁed economy w1th two sectors — -
households and’ firms. ‘ _ : 6
m%m:ﬂ%%’eﬁﬁﬂw@aﬁwwﬂmwﬁm 2T,
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OR / 94t

Explain' the vatue added method of ca]cﬁlati'ng GDP.
GG SR BRANH SR I AN Afold 0t A |

28. Explain the functions of .the RBIL

SR [{eS % (RBI) @9 Fie] [ @i |
OR | w94t

Describe the speculative demand for mohey.

Y@l e SRR REcy ¢ |
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